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6. 1 EE&K A (direct product)
X, Y:&E&
XXY:X&Y @E*ﬁ%ﬁ (FHJLFE, Cartesian product)
@ XY ={(y)|xeX, yeY}

%, Y) : IEF%F (ordered pair) XZY = (X, V) Z(Y, X)
—HERS X XXX XX = Ky Xgseee 5 X0) | X € X}
(Xps Xgs-.. 5 X)) : NIEFH (n tuple)
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6. 2 BEf% (relation) N L D2ER R D B K5I

R:X&YDHEDER XY: £8) F11) FNEER <
=) R CXxY N X N_ <

R 2 Xpy Xy ..o X, BADES R I I
o= R C X XXX ... xX, (0,0), (0, 1), (0,2), -+~ (©0,0),(0,1),(0,2), -+

R:X J:O)ZIEF;ﬁﬁ: (billal'y relation) (19 0)’ (la l)a (19 2)9 tt (1’ 1)5 (17 2), e
=) R C XxX D

R: X EtmnIEEEZ
=) R C XXXX.. xX
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E1:(a,b)eRTHAHIEF aRDb TRT (RERE)
¥2: (a,b) ¢ R THAEE alRb TRY
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2,0,2,1,(2,2), =~ [ = (2,2), ==~

H1:(1,2)e S ThHAEMD, 152
2 (1L,0) g < THHEND, 1£0
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Bl2) alb 4mb alkbzEYS
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NxN ther exists
Il
(0, 0), (0, 1), (0, 2), == -
1,0),1,1,1,2),---
(2,0),(2,1),(2,2), """ » D

3,0,3,1),3,2), """

N(s.t] b+a=k)

such that |
Il

(0, 0), (0, 1), (0, 2), * -
1,0),1,1),(1,2), -~
2,0), (2,1),(2,2), """
3,0 3,1),3,2), "
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6. 3 2IEEAZROMEE
R: X ED21ERE%

R : RETHY (reflexive)
=) vxeX, xRx ((x,x)eR)

Bl) = [FRETH | [FRETEITEL
(0,0), (0, 1), (0,2), -+ ,0),(1,1),(1,2),(1,3), ==
<— a,1),(1,2), -+ | = @.0), @,2),
= @2.2), "+ G.0), G,3), -

= 0] 0 THEL (0,00¢])
E: | AAN—{0} ED2IEBERLES X RS
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6. 3 2IEAEZROME (FKE)
R : XA (symmetric)
o) vy VyeX, xRy—yRx
(xy)eR=(,X)€R)
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6. 3 2IEMZROME (F&E)

R : &xt#i# (antisymmetric)
= vy VyeX, xRy AyRX—X=y
(% Y)eRA (Y, X)eR—Xx=Y)

=y/x=k A zly=m (kmeN)
Sz/x=mk=>x|z
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i) = [EXFFRRITALY | &> FREITARLY Bl) = ITR*TFRRY | & RxFRY
(0,0), (0, 1), 0,2), -+ (1,0), (1, 1), (1,2), (1,3), -+ ©,0), (0, 1), (0,2), -+~ (1,0), (1, 1), (1,2), (1, 3), -+~
B 1,1, (1,2), -+ @0, @2, B 1,1, (1,2), - @0, @),
== @,2),-- =160, 3,3), == @,2), =160, 3,3
0<52—-250 0=2THHH2=0TIEAEL L=1A1=020-17 0=0A0=0-0-02
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6. 3 2IEAZROME (KxE) 6. 3 2IBEZROME (W)
R : #% ) (transitive) R : LLEXATBE (comparable)
=) vy VyVzeX, xRy AyRz—xRz =) vy, VyeX, xRy VyRx
(Y)eRA(Y,)ER—=(X,2)€R) (Y)eRV (,x)eR)

) = 3R | HHEBE Bl) < (FHeBATae | [FHEA R THL

00D, 0,2, = (100, (1 (1,2, (1, 3, = 0,0, 0, 1), (0,2), -+ (1,0), (1, 1), (1,2), (1, 3), -~
1,1, (1,2), -+ @0, @2,
<= o2y ={a0 - . 1,1),(1,2), -+ _|eon, e,
"2 0 »3h == @, [ =160, 3,3), -
XSYyAy=z—-x=z x|lyAylz

vx,Vy €N, x <yVy = x 2|3 TH3 |2 THHL
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6. 4 HEFEEA A (transitive closure)

2IEER R ICTLESR/NEOEREMRASHEIZEST,

HRME BT KOITHRRL-BER

R={(a,b), (b,0),(c,d)} HEBHTRL
R*: R DR
R*=R U {(a,¢), (b,d), (a,d)}

a b ¢
*—o
R* : R ORSGTHIHBERAD
R* (reflexive transitive closure)

o o RETAEFETHI=T LIICHRIRLI-BIRZ
e R*=R"U{(aa),(b,b),(c,0),(d,d) }
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1,2),
P,=- @3), L
3,9,
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( (0, 0), (0,1), (0,2),(0,3), (0,4), ===
(1,1, 1,2),1,3),1,4), -
P]-Ik = 2,2), (2,3), (2,4), "+ »
@3,3), G, 4),. s
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